All Operations of Integers

Q1. The temperature dropped 3 degrees every hour for six hours. How
much did the temperature drop in all?

-18 9

18 -9
Q2. -15/3 = Q3. -7x-8=
Q4. -42/-6 = Q5. 5x-4=

Q6. A soccer team is having a car wash. The team spent $55 on supplies.
They earned $275, including tips. The team'’s profit is the amount the team
made after paying for supplies. Write a sum of integers that represents

the team'’s profit.

Q7. 55--2= Q8. 43-7=

Q9. A diver was 40 feet below the surface of the water. A fisherman was
casting off a dock right above the diver that was 12 feet above the surface
of the water. How far apart are the diver and the fisherman?

Q10. (-2)(-2) - (2)(-4) =



